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, obtain the following equations for a common catenary:

29a (g > z') is placed around the smooth cyrinder of radius

fl 
tn: string is hanging in the form of the carenary below

lhe string in contact with the cylinder is 2(tr _ a)a. prove

a.: (a + p - zr') cosh-l(sec c).

Repeat



t -^ ^-.,^fltq E,rllf at

2. With the usual notations' prove the Claypeyron's equatlon

M$ + ZMz@+ b) + Msb : :\ (n" + o3) + aEI

for the moment of a slightly elastic beam'
ror urrs '!vr'^--- 

re in a horizontal line'
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